

### Pay Estimate Created Date: July 1, 2025

	Contract ID Prime Contracto	241115-G r Blevins A	7A sphalt Construction (	Company, Inc.				5 Original Contract Amou Net Change Order Amou Current Contract Amou	int \$0.00	
Approval Date									By User	
July 1, 2025			Generated and	Approved (an	d should be con:	sidered Drat	ft) at the I	Project Office Level by	hubbai1	
July 1, 2025			Reviewed and Appr	oved (and sho	uld be considere	ed Draft) at t	the Resid	lent Engineer Level by	brusse1	
July 3, 2025				Reviewed and	Approved at th	e Central O	ffice Con	trollers Office Level by	ramses1	
Original Completion	on Date	Current Co	ompletion Date	Completion Date % of Current			urrent Contract Amount (	nt Contract Amount Complete		
September 1, 2	025	Septerr	iber 1, 2025				76.91%			
	Contra	ct Informat	ional Dates					Milestones		
Date Description	Original Comp	etion Date	Current Completio	on Date	No	Milestones	Exist for	Contract		
Acceptance Date										
Awarded Date	December 4, 20	24	December 4, 2024							
etting Date November 15, 2024 November 15, 2024				ļ.						
Notice to Proceed Date	January 6, 2025		January 6, 2025							
Work Began Date										

Contract Tot	al Pay I	For Estimate	e No. 2									
				This Es	timate	F	Previous	To Date	To Date			
241115-G7A		Gross Ite Incentive Disincent Liquidate		ts (\$202,8 \$0.00 \$0.00 \$0.00 \$0.00		\$ \$ \$ \$ \$ \$ \$	14,685.10 0.00 0.00 0.00 0.00 0.00 0.00 14,685.10		\$0.00 \$0.00 \$0.00			
Contract Tot	al Paya	ble This Es	timate:	\$222,4	428.69			<i>q</i> _01,1101				
<mark>tems Paid Th</mark>	<mark>is Estir</mark>	<u>mate Period</u>										
Project Numb	ber Li	ne Number	Item Code	Iten	n Description	Unit	Unit Price	Current Installed Qty	Current Installed Amour			
JSR0296B		0010	4091048	EMULSIFIED AS	PHALT, SEAL COAT	GAL	\$2.400	71,691	71,691			
		0020	4094011	SEAL COAT AG	GREGATE, GRADE B1	SQYD	\$0.930	218,097		\$202,830.2		
		0040	6169901	MISC.Lump Sum	Traffic Control	LS	\$7,650.000	1		\$7,650.0		
		0050	6181000	MOBILIZATION		LS	\$133,500.920	0.320	\$42,720.29			
Project JSR0	296B -	Total								\$425,258.9		
Overall - Tot										\$425,258.9		
Contract Adju												
lo Contract Ad .ine Item Adji												
Project I	Line No.		escription	Adjustment Type	Other Item Adjustment Type	Co	mments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
JSR0296B 0		SEAL COAT / GRADE B1	AGGREGATE	, Material		-218,097 \$0.93						
Total										(\$202,830.21		



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Inforr	nation					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JSR0296B	FAS S605 (61)	Seal coat	A	ST CLAIR	from Route 13 to Route 52 near Appleton City							
Totals by	y Job Nu	mbers										
JSR0296B		Posted Item Pay Gross Item Adjustments Gross Item Pay		This Estimate \$425,258.90 (\$202,830.21) <b>\$222,428.69</b>	Previous \$14,685.10 \$0.00 <b>\$14,685.10</b>	To Date \$439,944.00 (\$202,830.21) \$237,113.79						
					\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00					

## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSR0296B, Item 4094011, Project Item Line Number 0020, Material Set 409401196, Material 1003GA - Aggregate for Seal Coat Grade A1, Acceptance Action Generic 1003GA is insufficient.	No QC test information was reported to this line at the time of the production of this estimate.	hubbai1	Acknowledged

#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115-	JSR0296B	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	76,334.00	0.00	76,334.00	GAL	71,691.00	\$2.40	\$172,058.40
G7A		0001	0020	4094011	SEAL COAT AGGREGATE, GRADE B1	218,097.00	0.00	218,097.00	SQYD	218,097.00	\$0.93	\$202,830.21
	0001 0030 6161098A 0001 0040 6169901		6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	0.00	\$5,100.00	\$0.00	
			6169901	MISC.Lump Sum Traffic Control	1.00	0.00	1.00	LS	1.00	\$7,650.00	\$7,650.00	
		0001	0050	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.43	\$133,500.92	\$57,405.40
	0001 0060		0060	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	22.00	0.00	22.00	LF	0.00	\$32.05	\$0.00
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	178,443.00	0.00	178,443.00	LF	0.00	\$0.13	\$0.00
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	178,443.00	0.00	178,443.00	LF	0.00	\$0.06	\$0.00
	Project JSF	R0296B - To	otal Value	e Posted to D	Date as of Report Generated Date							\$439,944.01
241115-G	7A Overall	- Total Valu	e Posted	I to Date as o	of Report Generated Date							\$439,944.01



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	JSR029	6B											
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4091048 EMULSIFIED ASPH	EMULSIFIED ASPHALT, SEAL COAT	6/19/25	7/1/25	1	28,511.00	GAL	RTE A St. Clair County Seal Coat Day 1/3	0.019		6.714		
			6/20/25	7/1/25	1	22,755.00	GAL	RTE A St. Clair County Seal Coat Day 2/3	6.714		12.003		
			6/23/25	7/1/25	1	20,425.00	GAL	RTE A St. Clair County Seal Coat Day 3/3	12.003	CI	16.898	CI	
0020	4094011	SEAL COAT AGGREGATE, GRADE B1	6/23/25	7/1/25	1	218,097.00	SQYD	RTE A in St. Clair County	0.019	CL	16.898	CL	16.898 x 22' = 218,096.9sqyd
0040	6169901	MISC.	6/23/25	7/1/25	1	1.00	LS	RTE A in St. Clair County	0.0019	CL	16.917	CL	
0050	6181000	MOBILIZATION	6/23/25	7/1/25	1	0.32	LS	RTE A in St. Clair County	0.019	CL	16.917	CL	10% per sec. 618 of the total contract amount difference of the mobilization amount equals 43%.

The information below this line are details for Construction Signs (if applicable). No Data Available



## Contract ID: 241115-G7A

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSR0296B	0020	SEAL COAT AGGREGATE, GRADE B1	Material		2	Jul 1, 2025	SYSTEM	(\$202,830.21)	
		GRADE BI		- Total				(\$202,830.21)	
			Material - To	otal				(\$202,830.21)	
0020 - Total									
JSR0296B - Total								(\$202,830.21)	
Overall - Total								(\$202,830.21)	



There are no contract adjustments to display for this contract.